














» Notice that the set in (28b) is not a partition, unlike in Hamblin 1958.

We shall need to regard ‘who walks’ as itself denoting a set, namely, the set whose mem-
bers are propositions denoted by ‘Mary walks’, ‘John walks’, ... and so on for all individu-
als. Pragmatically speaking a question sets up a choice-situation between a set of propo-
sitions, namely, those propositions that count as answerstoit.  (Hamblin 1973: p. 48)

 Polar questions can be accounted for by the operator in (29):
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 Singleton sets of propositions are statements; Non-singleton (non-empty) sets of propositions are
questions.
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